D-Sub Accessories

ND PART MOy .
] COHNE105500 WO T N, 0 LIk
COHRG WD FLAT WAEHER 1 COHWE 16530
3 COHAGIINT SPLIT WaEHER 2 COHWESDINDD ':"! -
4 COHWE101M20 NUT N
23 LS
iy o F-
48 T PN COHWE 108500
) i
% — 30
; J\I '\nxu UhS Y dedl UNT
: = b P COHWIN0ALDO
PN . CDHWE1 23000 PN : COHWE 124000 PM : COHWE1 38000
Nl PART MO, CESCRIFTION T Jmarson
= E = Dimension
LU =T ~pr— Prart g,
COHWI0IIRGD FLAT TN Le. A
COHNEIDEE00 L | COHWE TN 6.2 244]
COHNVE G500 112,00,
COMNEIITS0 17,8, 1)
.. A
4D UNG #4u0] UNE S

F a8
L KIT] A
PN | COHWE145000 PN : COHWE***500 PN - COHWET0*ROD
- Dermmaian Cimension
s Shzing laich witn Sorew Elidhng laich wiz Borew A B el
L] COWE 140 COHWDN LD
an COHWE 141500 COHWDMILOD
il LG 25 COMWE 142500 COHWIRELAN

240
- FRG
- i I |
M I B 3 Eap A WIS I =
1! b = L
j._ J‘_ 1" e ..‘:lJ‘
| 0 | FiN . COMWEI8500

PN ; COHWE110500 PR comwEr=m |

D-Sub PCB mounting options

0 Riveted front and rear shell ¢ Riveted #4-40 UNC open nuts D Riveted #4-40 UNC close ground stand-off on rear shell
with w3.05mm Hole on rear shell :

DIM. L= 4,0mm (Standard)

HH
Machined contact
{DIM. L= 6.0 mm) (DIM. L= 7.4 mm)
A Riveted #4-40 UNC close nuts F Riveted ground hooks | Riveted ground tabs with #4-40 UNC open
on front shell with #4-40 UNC open

DIM. L= 5.8mm (Standard)

Stamped contact Machined contact

B Riveted #4-40 UMC open nuts G Riveted ground hooks pre-loaded J Assembly ground hooks by #4=40 UNC Hex screws
on front shell H#4-40 UNC Hex screws
DIM. L=4.0mm (Standard)

Stamped contact Machined contact




